319 Rogers Memorial Hospital - Brown Deer

4600 West Schroeder Drive

Brown Deer, WI 53223

414-865-2500

Hospital Type: PSYCH

County: Milwaukee

Analysis Area: 2B-Milwaukee County

Overall Hospital	l Utilization						Patient D	ischarge Stat	us_
Total Discharges	s :	2,677	Average L	ength of Stay (days):		5.8	Discharge Status		% Discharges
Total Patient Day	ys:	15,543	Average C	harge per Discharge	: \$	20,313	Home or Self-Care		91.4%
Psychiatric Utili	zation						Other GMS Hospital		0.0%
				=			Critical Access Hospital ((CAH)	0.0%
Discharges:		1,969		All Discharges:		73.6%	Skilled Nursing Facility		0.0%
Patient Days:		12,273	Percent of	All Patient Days:		79.0%	Intermediate Care Facilit	,	0.0%
AODA Utilization	n						Inpatient Rehabilitation F	acility	0.0%
	<u>U</u>						Hospice		0.0%
Discharges:		699		All Discharges:		26.1%	Other Institution		0.0%
Patient Days:		3,232	Percent of	All Patient Days:		20.8%	Home Health Service		0.0%
	Age Distribution	1			Sex Distribution		Left Against Medical Adv	ice	6.6%
Age Group	% Discharges	_	tient Days	Sex	% Discharges	% Patient Days	Expired		0.0%
Under 15	26.3%	70 T CI	31.2%	Male	49.3%	47.2%	Discharge/Tran to Court/	Law Enforcmnt	0.0%
15 - 19	15.2%		16.2%	Female	50.6%	52.7%	Other	Distribution	1.9%
20 - 24	6.4%		5.5%				·		
25 - 34	16.8%		14.5%	Expected	I Pay Source Dis	<u>tribution</u>	<u>Race</u>	% Discharges	% Patient Days
35 - 44	17.4%		14.8%	Primary Payer		% Discharges	Amer.Ind/Alaskan Native	1.2%	1.4%
45 - 54	9.9%		9.3%	Medicare		9.7%	Asian	1.2%	1.2%
55 - 64	5.9%		6.1%	Medicaid/Badger	Care	53.9%	Black/African Amer.	28.5%	28.4%
65 - 74	1.7%		2.1%	Other Governmen	nt	0.0%	Native Hawaii/Pac.Isl.	0.3%	0.3%
75 - 84	0.3%		0.3%	Commercial or Pr	rivate Insurance	34.9%	White	61.4%	60.9%
85 & Over	0.0%		0.0%	Self-Pay		1.0%	Multiracial	0.0%	0.0%
				Other or Unknow	n Insurance	0.4%	Declined	3.1%	3.4%
							Unavailable	4.4%	4.5%

APR-DRG	Specific Data
---------	---------------

		A۱	erage Length of St	tay	Average Cl	narge per Discha	rge
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin PSYCH	Ratio	This Facility	All Wisconsin PSYCH	Ratio
750 Schizophrenia	173	6.7	8.5	0.79	\$23,992	\$22,807	1.05
751 Psychoses	789	6.2	6.1	1.02	\$21,353	\$18,737	1.14
753 Bipolar Disorders	320	6.6	6.3	1.05	\$23,323	\$19,194	1.22
754 Depression	137	6.2	4.6	1.35	\$21,650	\$16,778	1.29
755 Neuroses Other Than Depression	105	5.4	4.7	1.15	\$19,122	\$13,323	1.44
756 Acute Adjust React Psychosocial Dysfunction	127	5.6	5.1	1.10	\$19,525	\$17,125	1.14
758 Behavioral disorders	225	6.5	6.2	1.05	\$22,364	\$20,917	1.07
759 Eating Disorders	*	*	21.2	*	*	\$70,260	*
761 Schizoaffective Disorders	13	6.2	8.6	0.72	\$21,185	\$21,515	0.98
770 Substance Abuse/Dependence, Left Against Medical Advice	95	2.5	2.0	1.25	\$9,107	\$7,618	1.20
773 Opioid Abuse/Dependence	233	5.1	4.6	1.11	\$18,137	\$16,603	1.09
774 Cocaine Abuse/Dependence	79	5.3	4.4	1.20	\$18,911	\$16,388	1.15
775 Alcohol Abuse/Dependence	274	4.7	4.1	1.15	\$16,369	\$13,826	1.18

N/A - Zero Discharges reported

^{* 1} through 4 Discharges reported

033 Fond du Lac County Health Care Center

459 E 1st St

Fond du Lac, WI 54935

920-929-3500 Analysis Area: 3-Lake Winnebago

Hospital Type: PSYCH

County: Fond du Lac

Overall Hospital	<u>Utilization</u>						Patient D	ischarge Stat	<u>us</u>
Total Discharges	s:	495	Average L	ength of Stay (days)	:	7.2	Discharge Status		% Discharges
Total Patient Day	ys:	3,548	Average C	harge per Discharge	e:	\$7,789	Home or Self-Care		89.3%
Psychiatric Utili	zation						Other GMS Hospital		0.2%
r sycillatific Othin	<u>Zation</u>						Critical Access Hospital ((CAH)	0.0%
Discharges:		386		All Discharges:		78.0%	Skilled Nursing Facility		0.2%
Patient Days:		3,081	Percent of	All Patient Days:		86.8%	Intermediate Care Facilit	•	0.0%
AODA Hillization	-						Inpatient Rehabilitation F	acility	0.0%
AODA Utilization	<u> </u>						Hospice		0.0%
Discharges:		105		All Discharges:		21.2%	Other Institution		0.0%
Patient Days:		412	Percent of	All Patient Days:		11.6%	Home Health Service		0.0%
	Age Distribution				Sex Distribution		Left Against Medical Adv	ice	6.5%
Age Group	% Discharges		tient Days	<u>Sex</u>	% Discharges	% Patient Days	Expired		0.0%
Under 15	0.0%	70 T CI	0.0%	Male	59.8%	57.4%	Discharge/Tran to Court/	Law Enforcmnt	0.6%
15 - 19	5.5%		5.5%	Female	40.2%	42.6%	Other	Distribution	3.2%
20 - 24	11.9%		13.0%				Nace	Distribution	
25 - 34	25.3%		25.6%	Expected	d Pay Source Dis	<u>tribution</u>	Race	% Discharges	% Patient Days
35 - 44	22.4%		21.5%	Primary Payer		% Discharges	Amer.Ind/Alaskan Native	0.4%	0.2%
45 - 54	13.1%		13.6%	Medicare		22.2%	Asian	0.2%	0.1%
55 - 64	15.6%		14.0%	Medicaid/Badger	rCare	45.5%	Black/African Amer.	8.5%	9.9%
65 - 74	5.5%		6.4%	Other Governme	ent	5.9%	Native Hawaii/Pac.Isl.	0.6%	0.7%
75 - 84	0.6%		0.3%	Commercial or P	rivate Insurance	21.0%	White	90.3%	89.1%
85 & Over	0.2%		0.1%	Self-Pay		5.3%	Multiracial	0.0%	0.0%
				Other or Unknow	n Insurance	0.2%	Declined	0.0%	0.0%
							Unavailable	0.0%	0.0%

		A۱	erage Length of S	tay	Average Cl	harge per Disch	arge
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin PSYCH	Ratio	This Facility	All Wisconsin PSYCH	Ratio
750 Schizophrenia	62	11.1	8.5	1.31	\$11,862	\$22,807	0.52
751 Psychoses	156	7.6	6.1	1.25	\$8,239	\$18,737	0.44
753 Bipolar Disorders	126	6.9	6.3	1.10	\$7,552	\$19,194	0.39
754 Depression	*	*	4.6	*	*	\$16,778	*
755 Neuroses Other Than Depression	0	N/A	4.7	N/A	*	\$13,323	N/A
756 Acute Adjust React Psychosocial Dysfunction	*	*	5.1	*	*	\$17,125	*
758 Behavioral disorders	*	*	6.2	*	*	\$20,917	*
759 Eating Disorders	0	N/A	21.2	N/A	*	\$70,260	N/A
761 Schizoaffective Disorders	29	9.7	8.6	1.13	\$10,191	\$21,515	0.47
770 Substance Abuse/Dependence, Left Against Medical Advice	6	2.3	2.0	1.15	\$2,613	\$7,618	0.34
773 Opioid Abuse/Dependence	*	*	4.6	*	*	\$16,603	*
774 Cocaine Abuse/Dependence	8	3.1	4.4	0.70	\$3,489	\$16,388	0.21
775 Alcohol Abuse/Dependence	81	3.9	4.1	0.95	\$4,294	\$13,826	0.31

N/A - Zero Discharges reported

^{* 1} through 4 Discharges reported

172 Bellin Psychiatric Center

301 E St Joseph Ave

Green Bay, WI 54301

920-433-3630

Hospital Type: PSYCH
County: Brown

Analysis Area: 4-Northeastern

Overall Hospital	<u>Utilization</u>						Patient D	ischarge Stat	us_
Total Discharges:		1,884	Average L	ength of Stay (days):		5.0	Discharge Status		% Discharges
Total Patient Days	3 :	9,353	Average C	harge per Discharge	: \$	512,291	Home or Self-Care		91.9%
Psychiatric Utiliz	ation						Other GMS Hospital		1.2%
·				A II D: 1			Critical Access Hospital (CAH)	0.1%
Discharges:		1,453		All Discharges:		77.1%	Skilled Nursing Facility		0.7%
Patient Days:		7,749	Percent of	All Patient Days:		82.9%	Intermediate Care Facilit	,	0.1%
AODA Utilization							Inpatient Rehabilitation F	acility	0.1%
							Hospice		0.1%
Discharges:		409	Percent of	All Discharges:		21.7%	Other Institution		0.0%
Patient Days:		1,493	Percent of	All Patient Days:		16.0%	Home Health Service		0.1%
	Age Distribution			;	Sex Distribution		Left Against Medical Adv	ice	5.7%
Age Group	% Discharges		tient Days	<u>Sex</u>	% Discharges	% Patient Days	Expired		0.0%
Under 15	17.5%	70 T AT	19.1%	Male	46.6%	44.6%	Discharge/Tran to Court/	Law Enforcmnt	0.1%
15 - 19	19.7%		20.5%	Female	53.3%	55.4%	Other	Distribution	0.2%
20 - 24	8.1%		6.9%	i ciliale	33.370	33.470	Race	Distribution	
20 - 24 25 - 34	13.6%		12.0%	<u>Expected</u>	I Pay Source Dis	<u>tribution</u>	Race	% Discharges	% Patient Days
35 - 44	17.1%		16.7%	Primary Payer		% Discharges	Amer.Ind/Alaskan Native	5.5%	5.9%
45 - 54	10.2%		9.9%	Medicare		13.1%	Asian	0.8%	0.9%
55 - 64	9.7%		9.3%	Medicaid/Badger(Care	36.9%	Black/African Amer.	3.8%	3.3%
65 - 74	3.3%		4.4%	Other Governmer		5.3%	Native Hawaii/Pac.Isl.	0.4%	0.5%
75 - 84	0.8%		1.1%	Commercial or Pr	rivate Insurance	39.8%	White	81.4%	80.2%
85 & Over	0.0%		0.0%	Self-Pay		4.8%	Multiracial	0.0%	0.0%
				Other or Unknow	n Insurance	0.2%	Declined	1.3%	1.6%
							Unavailable	6.7%	7.5%

		A۱	erage Length of St	tay	Average Cl	narge per Disch	arge
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin PSYCH	Ratio	This Facility	All Wisconsin PSYCH	Ratio
750 Schizophrenia	71	7.1	8.5	0.84	\$16,588	\$22,807	0.73
751 Psychoses	606	5.3	6.1	0.87	\$13,382	\$18,737	0.71
753 Bipolar Disorders	550	5.4	6.3	0.86	\$13,441	\$19,194	0.70
754 Depression	81	4.4	4.6	0.96	\$10,908	\$16,778	0.65
755 Neuroses Other Than Depression	54	3.9	4.7	0.83	\$9,697	\$13,323	0.73
756 Acute Adjust React Psychosocial Dysfunction	29	5.0	5.1	0.98	\$12,266	\$17,125	0.72
758 Behavioral disorders	19	4.9	6.2	0.79	\$12,803	\$20,917	0.61
759 Eating Disorders	0	N/A	21.2	N/A	*	\$70,260	N/A
761 Schizoaffective Disorders	19	6.5	8.6	0.76	\$16,536	\$21,515	0.77
770 Substance Abuse/Dependence, Left Against Medical Advice	40	1.7	2.0	0.85	\$3,992	\$7,618	0.52
773 Opioid Abuse/Dependence	57	3.9	4.6	0.85	\$9,590	\$16,603	0.58
774 Cocaine Abuse/Dependence	39	4.3	4.4	0.98	\$10,052	\$16,388	0.61
775 Alcohol Abuse/Dependence	271	3.8	4.1	0.93	\$9,066	\$13,826	0.66

N/A - Zero Discharges reported

^{* 1} through 4 Discharges reported

040 Brown County Community Treatment Center

3150 Gershwin Drive

Green Bay, WI 54311

920-391-4700 Analysis Area: 4-Northeastern

Overall Hospital I	<u>Utilization</u>						Patient D	ischarge Stat	<u>us</u>
Total Discharges:		522	Average Le	ength of Stay (days	s):	6.5	Discharge Status		% Discharges
Total Patient Days	s:	3,377	Average C	harge per Discharg	je:	\$7,840	Home or Self-Care		100.0%
Psychiatric Utiliz	ation						Other GMS Hospital		0.0%
rsycillatific Othiz	<u>ation</u>						Critical Access Hospital	(CAH)	0.0%
Discharges:		518		All Discharges:		99.2%	Skilled Nursing Facility		0.0%
Patient Days:		3,257	Percent of	All Patient Days:		96.4%	Intermediate Care Facilit	ty	0.0%
AODA Hillization							Inpatient Rehabilitation F	acility	0.0%
AODA Utilization							Hospice		0.0%
Discharges:		3		All Discharges:		0.6%	Other Institution		0.0%
Patient Days:		21	Percent of	All Patient Days:		0.6%	Home Health Service		0.0%
	Age Distribution				Sex Distribution		Left Against Medical Adv	rice	0.0%
Age Group	% Discharges		tient Days	<u>Sex</u>	% Discharges	% Patient Days	Expired		0.0%
Under 15	0.0%	70 T G	0.0%	Male	50.8%	46.6%	Discharge/Tran to Court	Law Enforcmnt	0.0%
15 - 19	4.4%		2.1%	Female	49.2%	53.4%	Other	e Distribution	0.0%
20 - 24	10.7%		8.8%		_		Naci	<u> Distribution</u>	
25 - 34	25.5%		19.5%	Expecte	ed Pay Source Dist	<u>tribution</u>	Race	% Discharges	% Patient Days
35 - 44	23.2%		22.8%	Primary Payer		% Discharges	Amer.Ind/Alaskan Native	9.0%	7.4%
45 - 54	14.9%		15.7%	Medicare		31.2%	Asian	2.3%	4.3%
55 - 64	15.1%		15.5%	Medicaid/Badge	erCare	49.6%	Black/African Amer.	11.5%	7.9%
65 - 74	5.0%		8.2%	Other Governme	ent	0.8%	Native Hawaii/Pac.Isl.	0.2%	0.1%
75 - 84	1.1%		7.3%	Commercial or I	Private Insurance	13.6%	White	75.9%	79.6%
85 & Over	0.0%		0.0%	Self-Pay		4.8%	Multiracial	0.0%	0.0%
				Other or Unknow	wn Insurance	0.0%	Declined	1.0%	0.7%
							Unavailable	0.2%	0.0%

Hospital Type: PSYCH

County: Brown

		A۱	erage Length of St	tay	Average Cl	narge per Discha	rge
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin PSYCH	Ratio	This Facility	All Wisconsin PSYCH	Ratio
750 Schizophrenia	133	8.7	8.5	1.02	\$10,868	\$22,807	0.48
751 Psychoses	74	6.6	6.1	1.08	\$7,885	\$18,737	0.42
753 Bipolar Disorders	103	7.0	6.3	1.11	\$9,100	\$19,194	0.47
754 Depression	87	4.8	4.6	1.04	\$5,900	\$16,778	0.35
755 Neuroses Other Than Depression	91	3.4	4.7	0.72	\$4,236	\$13,323	0.32
756 Acute Adjust React Psychosocial Dysfunction	5	4.6	5.1	0.90	\$5,626	\$17,125	0.33
758 Behavioral disorders	*	*	6.2	*	*	\$20,917	*
759 Eating Disorders	0	N/A	21.2	N/A	*	\$70,260	N/A
761 Schizoaffective Disorders	20	6.0	8.6	0.70	\$7,338	\$21,515	0.34
770 Substance Abuse/Dependence, Left Against Medical Advice	0	N/A	2.0	N/A	*	\$7,618	N/A
773 Opioid Abuse/Dependence	0	N/A	4.6	N/A	*	\$16,603	N/A
774 Cocaine Abuse/Dependence	0	N/A	4.4	N/A	*	\$16,388	N/A
775 Alcohol Abuse/Dependence	0	N/A	4.1	N/A	*	\$13,826	N/A

N/A - Zero Discharges reported

^{* 1} through 4 Discharges reported

1351 Ontario Road

Green Bay, WI 54311

Hospital Type: PSYCH
County: Brown

Analysis Area: 4-Northeastern

Overall Hospital	<u>Utilization</u>						Patient D	Discharge Stat	us
Total Discharges	:	2,336	Average Le	ength of Stay (days)):	7.8	Discharge Status		% Discharges
Total Patient Day	s: 1	18,170	Average C	harge per Discharge	e: \$	21,265	Home or Self-Care		90.1%
Psychiatric Utiliz	zation						Other GMS Hospital		0.9%
' 	<u>Lation</u>		_				Critical Access Hospital	(CAH)	0.0%
Discharges:		,		All Discharges:		90.4%	Skilled Nursing Facility		0.0%
Patient Days:	1	17,238	Percent of	All Patient Days:		94.9%	Intermediate Care Facili	•	0.1%
AODA Hillization							Inpatient Rehabilitation F	acility	0.1%
AODA Utilization	<u>!</u>						Hospice		0.0%
Discharges:				All Discharges:		9.6%	Other Institution		0.0%
Patient Days:		932	Percent of	All Patient Days:		5.1%	Home Health Service		0.0%
	Age Distribution				Sex Distribution		Left Against Medical Adv	rice	7.4%
Age Group	% Discharges	% Patie	ent Days	<u>Sex</u>	% Discharges	% Patient Days	Expired		0.0%
Under 15	15.0%	70 T Gal	17.8%	Male	45.6%	42.9%	Discharge/Tran to Court	Law Enforcmnt	0.6%
15 - 19	20.6%		22.4%	Female	54.4%	57.1%	Other	e Distribution	0.8%
20 - 24	9.0%		8.7%		1 D . O D'		·		
25 - 34	14.8%		13.5%	Expecte	d Pay Source Dist	tribution	<u>Race</u>	% Discharges	% Patient Days
35 - 44	18.2%		15.9%	Primary Payer		% Discharges	Amer.Ind/Alaskan Native	e 2.7%	2.9%
45 - 54	10.4%		9.8%	Medicare		11.6%	Asian	0.4%	0.3%
55 - 64	9.2%		9.0%	Medicaid/Badge	rCare	49.7%	Black/African Amer.	3.9%	3.8%
65 - 74	2.2%		2.3%	Other Governme	ent	3.8%	Native Hawaii/Pac.Isl.	0.1%	0.2%
75 - 84	0.3%		0.6%	Commercial or F	Private Insurance	33.9%	White	82.7%	82.1%
85 & Over	0.1%		0.1%	Self-Pay		0.7%	Multiracial	0.0%	0.0%
				Other or Unknow	vn Insurance	0.3%	Declined	0.0%	0.0%
							Unavailable	10.1%	10.7%
				A D	D DDC Cassifis D	_4_			

		A۱	verage Length of S	tay	Average Cl	narge per Discha	irge
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin PSYCH	Ratio	This Facility	All Wisconsin PSYCH	Ratio
750 Schizophrenia	253	8.9	8.5	1.05	\$24,624	\$22,807	1.08
751 Psychoses	1,226	8.1	6.1	1.33	\$22,087	\$18,737	1.18
753 Bipolar Disorders	543	8.2	6.3	1.30	\$22,268	\$19,194	1.16
754 Depression	10	4.2	4.6	0.91	\$11,440	\$16,778	0.68
755 Neuroses Other Than Depression	*	*	4.7	*	*	\$13,323	*
756 Acute Adjust React Psychosocial Dysfunction	*	*	5.1	*	*	\$17,125	*
758 Behavioral disorders	37	7.8	6.2	1.26	\$21,005	\$20,917	1.00
759 Eating Disorders	0	N/A	21.2	N/A	*	\$70,260	N/A
761 Schizoaffective Disorders	31	7.7	8.6	0.90	\$21,587	\$21,515	1.00
770 Substance Abuse/Dependence, Left Against Medical Advice	17	1.9	2.0	0.95	\$5,424	\$7,618	0.71
773 Opioid Abuse/Dependence	7	3.9	4.6	0.85	\$10,657	\$16,603	0.64
774 Cocaine Abuse/Dependence	*	*	4.4	*	*	\$16,388	*
775 Alcohol Abuse/Dependence	194	4.3	4.1	1.05	\$11,701	\$13,826	0.85

N/A - Zero Discharges reported

^{* 1} through 4 Discharges reported

1600 N Chestnut Ave

Marshfield, WI 54449

715-384-2188 Analysis Area: 6-North Central

Overall Hospital L	<u> Jtilization</u>						Patient D	ischarge Stat	<u>us</u>
Total Discharges:		376	Average Le	ength of Stay (days)):	6.6	Discharge Status		% Discharges
Total Patient Days	:	2,486	Average C	harge per Discharge	e: \$	12,708	Home or Self-Care		93.4%
Psychiatric Utiliza	ation						Other GMS Hospital		0.8%
	<u>ation</u>						Critical Access Hospital	(CAH)	0.0%
Discharges:		369		All Discharges:		98.1%	Skilled Nursing Facility		0.0%
Patient Days:		2,436	Percent of	All Patient Days:		98.0%	Intermediate Care Facilit	-	0.0%
AODA Utilization							Inpatient Rehabilitation F	acility	0.0%
							Hospice		0.0%
Discharges:		6		All Discharges:		1.6%	Other Institution		0.0%
Patient Days:		36	Percent of	All Patient Days:		1.4%	Home Health Service		0.0%
	Age Distribution				Sex Distribution		Left Against Medical Adv	rice	0.0%
Age Group	% Discharges	% Pa	tient Days	<u>Sex</u>	% Discharges	% Patient Days	Expired		0.0%
Under 15	0.0%	70 T G	0.0%	Male	46.5%	44.5%	Discharge/Tran to Court, Other	Law Enforcmnt	0.5%
15 - 19	4.8%		3.1%	Female	53.5%	55.5%	· · · · · ·	e Distribution	5.3%
20 - 24	11.7%		7.4%		1 D . O D'. (
25 - 34	27.9%		26.1%	Expecte	d Pay Source Dist	ribution	<u>Race</u>	% Discharges	% Patient Days
35 - 44	23.9%		20.5%	Primary Payer		% Discharges	Amer.Ind/Alaskan Native	3.5%	2.1%
45 - 54	12.0%		12.3%	Medicare		25.5%	Asian	1.6%	1.2%
55 - 64	10.9%		13.0%	Medicaid/Badge	rCare	40.4%	Black/African Amer.	2.4%	1.7%
65 - 74	6.4%		9.4%	Other Governme	ent	0.3%	Native Hawaii/Pac.Isl.	0.3%	0.1%
75 - 84	2.1%		7.7%	Commercial or F	Private Insurance	24.5%	White	91.0%	94.0%
85 & Over	0.3%		0.6%	Self-Pay		9.0%	Multiracial	0.8%	0.7%
				Other or Unknov	vn Insurance	0.3%	Declined	0.5%	0.2%
							Unavailable	0.0%	0.0%

Hospital Type: PSYCH

County: Wood

		Av	erage Length of St	tay	Average Charge per Discharge			
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin PSYCH	Ratio	This Facility	All Wisconsin PSYCH	Ratio	
750 Schizophrenia	53	10.7	8.5	1.26	\$20,284	\$22,807	0.89	
751 Psychoses	156	5.7	6.1	0.93	\$11,044	\$18,737	0.59	
753 Bipolar Disorders	38	7.7	6.3	1.22	\$14,756	\$19,194	0.77	
754 Depression	59	5.0	4.6	1.09	\$9,596	\$16,778	0.57	
755 Neuroses Other Than Depression	36	3.9	4.7	0.83	\$7,696	\$13,323	0.58	
756 Acute Adjust React Psychosocial Dysfunction	18	6.1	5.1	1.20	\$11,674	\$17,125	0.68	
758 Behavioral disorders	0	N/A	6.2	N/A	*	\$20,917	N/A	
759 Eating Disorders	0	N/A	21.2	N/A	*	\$70,260	N/A	
761 Schizoaffective Disorders	7	20.1	8.6	2.34	\$38,222	\$21,515	1.78	
770 Substance Abuse/Dependence, Left Against Medical Advice	0	N/A	2.0	N/A	*	\$7,618	N/A	
773 Opioid Abuse/Dependence	0	N/A	4.6	N/A	*	\$16,603	N/A	
774 Cocaine Abuse/Dependence	0	N/A	4.4	N/A	*	\$16,388	N/A	
775 Alcohol Abuse/Dependence	*	*	4.1	*	*	\$13,826	*	

N/A - Zero Discharges reported

^{* 1} through 4 Discharges reported

327 Miramont Behavioral Health

3169 Deming Way

Middleton, WI 53562

608-716-8288

Hospital Type: PSYCH

County: Dane

Analysis Area: 1-Southern

Overall Hospital L	<u> Itilization</u>						Patient D	ischarge Stat	<u>us</u>
Total Discharges:		1,753	Average Le	ength of Stay (days)):	6.6	Discharge Status		% Discharges
Total Patient Days	: 1	11,590	Average C	harge per Discharge	e: \$	17,987	Home or Self-Care		89.2%
Psychiatric Utiliza	tion						Other GMS Hospital		1.1%
rsycillatific Othiza	ition						Critical Access Hospital	(CAH)	0.0%
Discharges:		1,546		All Discharges:		88.2%	Skilled Nursing Facility		0.0%
Patient Days:	1	0,717	Percent of	All Patient Days:		92.5%	Intermediate Care Facilit	ty	0.0%
AODA Hillingtion							Inpatient Rehabilitation F	acility	0.3%
AODA Utilization							Hospice		0.0%
Discharges:		207		All Discharges:		11.8%	Other Institution		0.0%
Patient Days:		873	Percent of	All Patient Days:		7.5%	Home Health Service		0.0%
	Age Distribution				Sex Distribution		Left Against Medical Adv	rice	7.8%
Age Group	% Discharges		tient Days	<u>Sex</u>	% Discharges	% Patient Days	Expired		0.0%
Under 15	11.7%	70 T CI	13.8%	Male	52.1%	50.3%	Discharge/Tran to Court	Law Enforcmnt	0.3%
15 - 19	17.1%		18.7%	Female	47.9%	49.7%	Other	e Distribution	1.3%
20 - 24	7.9%		7.5%				Naci	<u> Distribution</u>	
25 - 34	19.7%		17.6%	<u>Expecte</u>	<u>d Pay Source Dist</u>	<u>tribution</u>	<u>Race</u>	% Discharges	% Patient Days
35 - 44	19.7%		18.4%	Primary Payer		% Discharges	Amer.Ind/Alaskan Native	0.5%	0.5%
45 - 54	13.1%		12.4%	Medicare		13.6%	Asian	0.6%	0.7%
55 - 64	7.4%		8.0%	Medicaid/Badge	rCare	46.1%	Black/African Amer.	8.0%	8.1%
65 - 74	3.1%		3.3%	Other Governme	ent	3.1%	Native Hawaii/Pac.Isl.	0.1%	0.1%
75 - 84	0.3%		0.3%	Commercial or F	rivate Insurance	35.2%	White	85.4%	84.6%
85 & Over	0.0%		0.0%	Self-Pay		0.9%	Multiracial	0.0%	0.0%
				Other or Unknow	vn Insurance	1.1%	Declined	0.0%	0.0%
							Unavailable	5.4%	6.0%

		A۱	erage Length of St	tay	Average Cl	narge per Discha	irge
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin PSYCH	Ratio	This Facility	All Wisconsin PSYCH	Ratio
750 Schizophrenia	272	8.1	8.5	0.95	\$21,913	\$22,807	0.96
751 Psychoses	1,044	6.7	6.1	1.10	\$18,082	\$18,737	0.97
753 Bipolar Disorders	176	7.3	6.3	1.16	\$19,811	\$19,194	1.03
754 Depression	7	4.9	4.6	1.07	\$13,371	\$16,778	0.80
755 Neuroses Other Than Depression	31	5.0	4.7	1.06	\$13,568	\$13,323	1.02
756 Acute Adjust React Psychosocial Dysfunction	8	4.8	5.1	0.94	\$13,075	\$17,125	0.76
758 Behavioral disorders	*	*	6.2	*	*	\$20,917	*
759 Eating Disorders	0	N/A	21.2	N/A	*	\$70,260	N/A
761 Schizoaffective Disorders	5	8.2	8.6	0.95	\$21,280	\$21,515	0.99
770 Substance Abuse/Dependence, Left Against Medical Advice	16	2.4	2.0	1.20	\$6,688	\$7,618	0.88
773 Opioid Abuse/Dependence	45	4.4	4.6	0.96	\$12,058	\$16,603	0.73
774 Cocaine Abuse/Dependence	9	5.3	4.4	1.20	\$14,933	\$16,388	0.91
775 Alcohol Abuse/Dependence	135	4.3	4.1	1.05	\$11,839	\$13,826	0.86

N/A - Zero Discharges reported

^{* 1} through 4 Discharges reported

340 Mental Health Emergency Center

1525 N 12th St

Milwaukee, WI 53205

414-966-3030

Hospital Type: PSYCH

County: Milwaukee

Analysis Area: 2B-Milwaukee County

Overall Hospital	Utilization						Patient D	ischarge Stat	us_
Total Discharges	:	57	Average L	ength of Stay (days):		3.4	Discharge Status		% Discharges
Total Patient Day	/s:	193	Average C	harge per Discharge	: \$	18,819	Home or Self-Care		31.6%
Psychiatric Utili	zation						Other GMS Hospital		12.3%
-	<u> Lation</u>						Critical Access Hospital (CAH)	0.0%
Discharges:		56		All Discharges:		98.2%	Skilled Nursing Facility		0.0%
Patient Days:		192	Percent of	All Patient Days:		99.5%	Intermediate Care Facilit	,	1.8%
AODA Utilization	n						Inpatient Rehabilitation F	acility	1.8%
	<u>!!</u>						Hospice		0.0%
Discharges:		1		All Discharges:		1.8%	Other Institution		0.0%
Patient Days:		1	Percent of	All Patient Days:		0.5%	Home Health Service		0.0%
	Age Distribution				Sex Distribution		Left Against Medical Adv	ice	0.0%
Age Group	% Discharges	% Pat	ient Days	<u>Sex</u>	% Discharges	% Patient Days	Expired		0.0%
Under 15	0.0%	70 1 at	0.0%	Male	63.2%	58.0%	Discharge/Tran to Court/	Law Enforcmnt	0.0%
15 - 19	5.3%		2.1%	Female	36.8%	42.0%	Other	Distribution	52.6%
20 - 24	14.0%		18.1%	Tomaio	00.070	42.070	Race	Distribution	
25 - 34	31.6%		33.7%	Expected	d Pay Source Dist	<u>ribution</u>	<u>Race</u>	% Discharges	% Patient Days
35 - 44	17.5%		6.7%	Primary Payer		% Discharges	Amer.Ind/Alaskan Native	0.0%	0.0%
45 - 54	15.8%		21.8%	Medicare		38.6%	Asian	0.0%	0.0%
55 - 64	12.3%		13.0%	Medicaid/Badger	Care	49.1%	Black/African Amer.	59.6%	78.8%
65 - 74	3.5%		4.7%	Other Governme	nt	1.8%	Native Hawaii/Pac.Isl.	0.0%	0.0%
75 - 84	0.0%		0.0%	Commercial or P	rivate Insurance	3.5%	White	38.6%	20.2%
85 & Over	0.0%		0.0%	Self-Pay		7.0%	Multiracial	1.8%	1.0%
				Other or Unknow	n Insurance	0.0%	Declined	0.0%	0.0%
							Unavailable	0.0%	0.0%

		A۱	erage Length of St	tay	Average Ch	narge per Discha	rge
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin PSYCH	Ratio	This Facility	All Wisconsin PSYCH	Ratio
750 Schizophrenia	31	3.5	8.5	0.41	\$20,282	\$22,807	0.89
751 Psychoses	7	4.3	6.1	0.70	\$20,992	\$18,737	1.12
753 Bipolar Disorders	11	1.6	6.3	0.25	\$10,650	\$19,194	0.55
754 Depression	0	N/A	4.6	N/A	*	\$16,778	N/A
755 Neuroses Other Than Depression	0	N/A	4.7	N/A	*	\$13,323	N/A
756 Acute Adjust React Psychosocial Dysfunction	*	*	5.1	*	*	\$17,125	*
758 Behavioral disorders	0	N/A	6.2	N/A	*	\$20,917	N/A
759 Eating Disorders	0	N/A	21.2	N/A	*	\$70,260	N/A
761 Schizoaffective Disorders	0	N/A	8.6	N/A	*	\$21,515	N/A
770 Substance Abuse/Dependence, Left Against Medical Advice	0	N/A	2.0	N/A	*	\$7,618	N/A
773 Opioid Abuse/Dependence	0	N/A	4.6	N/A	*	\$16,603	N/A
774 Cocaine Abuse/Dependence	0	N/A	4.4	N/A	*	\$16,388	N/A
775 Alcohol Abuse/Dependence	0	N/A	4.1	N/A	*	\$13,826	N/A

N/A - Zero Discharges reported

^{* 1} through 4 Discharges reported

099 Rogers Memorial Hospital Inc

34700 Valley Road

Oconomowoc, WI 53066

262-646-4411 Analysis Area: 2A-Southeastern

Overall Hespital Utilization

Patient Discharge Status

Overall Hospital	<u>Utilization</u>						Patient D	ischarge State	<u>us</u>
Total Discharges:	:	2,366	Average Le	ength of Stay (days)):	9.9	Discharge Status		% Discharges
Total Patient Day	s:	23,315	Average C	harge per Discharge	e: \$	34,435	Home or Self-Care		90.3%
Dovobiotrio I Itili-	rotion						Other GMS Hospital		0.0%
Psychiatric Utiliz	<u>zation</u>						Critical Access Hospital	(CAH)	0.0%
Discharges:		1,825	Percent of	All Discharges:		77.1%	Skilled Nursing Facility		0.0%
Patient Days:	:	20,814	Percent of	All Patient Days:		89.3%	Intermediate Care Facilit	y	0.0%
AODA Utilization							Inpatient Rehabilitation F	acility	0.0%
AODA Utilization	<u>!</u>						Hospice		0.0%
Discharges:		540		All Discharges:		22.8%	Other Institution		0.0%
Patient Days:		2,497	Percent of	All Patient Days:		10.7%	Home Health Service		0.0%
	Age Distribution	1			Sex Distribution		Left Against Medical Adv	ice	4.9%
Age Group	% Discharges	- % Pat	tient Days	<u>Sex</u>	% Discharges	% Patient Days	Expired		0.0%
Under 15	11.5%	70 T C	15.4%	Male	37.4%	26.6%	Discharge/Tran to Court	Law Enforcmnt	0.0%
15 - 19	26.3%		29.3%	Female	62.2%	73.2%	Other	Distribution	4.9%
20 - 24	12.1%		13.5%				Nace	Distribution	
25 - 34	16.0%		14.0%	<u>Expecte</u>	d Pay Source Dist	<u>tribution</u>	Race	<u>% Discharges</u>	% Patient Days
35 - 44	15.5%		12.9%	Primary Payer		% Discharges	Amer.Ind/Alaskan Native	1.1%	0.6%
45 - 54	9.2%		6.5%	Medicare		10.4%	Asian	1.1%	0.7%
55 - 64	6.2%		5.2%	Medicaid/Badge	rCare	30.9%	Black/African Amer.	7.2%	6.0%
65 - 74	2.6%		2.6%	Other Governme	ent	0.0%	Native Hawaii/Pac.Isl.	0.2%	0.1%
75 - 84	0.5%		0.5%	Commercial or F	Private Insurance	57.0%	White	84.1%	85.7%
85 & Over	0.0%		0.0%	Self-Pay		1.2%	Multiracial	0.0%	0.0%
				Other or Unknov	vn Insurance	0.5%	Declined	2.7%	3.2%
							Unavailable	3.7%	3.6%

Hospital Type: PSYCH

County: Waukesha

		A۱	erage Length of St	tay	Average Ch	narge per Discha	rge
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin PSYCH	Ratio	This Facility	All Wisconsin PSYCH	Ratio
750 Schizophrenia	73	8.2	8.5	0.96	\$29,037	\$22,807	1.27
751 Psychoses	789	7.1	6.1	1.16	\$24,950	\$18,737	1.33
753 Bipolar Disorders	202	6.9	6.3	1.10	\$24,347	\$19,194	1.27
754 Depression	42	6.3	4.6	1.37	\$21,911	\$16,778	1.31
755 Neuroses Other Than Depression	55	8.4	4.7	1.79	\$30,056	\$13,323	2.26
756 Acute Adjust React Psychosocial Dysfunction	41	6.0	5.1	1.18	\$20,810	\$17,125	1.22
758 Behavioral disorders	12	4.8	6.2	0.77	\$16,180	\$20,917	0.77
759 Eating Disorders	354	21.5	21.2	1.01	\$71,277	\$70,260	1.01
761 Schizoaffective Disorders	16	7.6	8.6	0.88	\$25,925	\$21,515	1.20
770 Substance Abuse/Dependence, Left Against Medical Advice	25	2.0	2.0	1.00	\$6,879	\$7,618	0.90
773 Opioid Abuse/Dependence	113	5.2	4.6	1.13	\$18,321	\$16,603	1.10
774 Cocaine Abuse/Dependence	24	4.6	4.4	1.05	\$16,250	\$16,388	0.99
775 Alcohol Abuse/Dependence	359	4.6	4.1	1.12	\$16,555	\$13,826	1.20

N/A - Zero Discharges reported

^{* 1} through 4 Discharges reported

140 Waukesha County Mental Health Center

1501 Airport Rd

Waukesha, WI 53188

262-548-7957

Hospital Type: PSYCH

County: Waukesha

Analysis Area: 2A-Southeastern

Overall Hospital	<u> Utilization</u>						<u>Patient D</u>	<u>ischarge Stat</u>	<u>us</u>
Total Discharges	s:	511	Average L	ength of Stay (days)):	7.7	Discharge Status		% Discharges
Total Patient Day	ys:	3,927	Average C	harge per Discharge	e:	\$9,607	Home or Self-Care		83.8%
Psychiatric Utili	zation						Other GMS Hospital		1.4%
· · · · · · · · · · · · · · · · · · ·	Zation						Critical Access Hospital (CAH)	0.0%
Discharges:		471	Percent of	All Discharges:		92.2%	Skilled Nursing Facility		0.0%
Patient Days:		3,569	Percent of	All Patient Days:		90.9%	Intermediate Care Facilit	y	0.0%
AODA Hillingtio	-						Inpatient Rehabilitation F	acility	0.0%
AODA Utilization	<u>n</u>						Hospice		0.0%
Discharges:		30		All Discharges:		5.9%	Other Institution		0.0%
Patient Days:		109	Percent of	All Patient Days:		2.8%	Home Health Service		0.0%
	Age Distribution				Sex Distribution		Left Against Medical Adv	ce	0.0%
Age Group	% Discharges	-	tient Days	<u>Sex</u>	% Discharges	% Patient Days	Expired		0.0%
Under 15	0.0%	70 T A	0.0%	Male	53.0%	54.6%	Discharge/Tran to Court/	Law Enforcmnt	7.2%
15 - 19	4.3%		2.4%	Female	46.8%	45.3%	Other	Distribution	7.6%
20 - 24	11.7%		7.3%				Race	Distribution	
25 - 34	27.4%		31.2%	Expecte	<u>d Pay Source Dist</u>	tribution	Race	% Discharges	% Patient Days
35 - 44	23.7%		24.2%	Primary Payer		% Discharges	Amer.Ind/Alaskan Native	0.8%	0.5%
45 - 54	17.0%		14.5%	Medicare		21.3%	Asian	2.0%	1.1%
55 - 64	11.2%		10.6%	Medicaid/Badge	rCare	42.1%	Black/African Amer.	8.0%	6.9%
65 - 74	3.5%		7.4%	Other Governme	ent	1.4%	Native Hawaii/Pac.Isl.	0.0%	0.0%
75 - 84	1.2%		2.4%	Commercial or P	rivate Insurance	22.9%	White	74.0%	81.8%
85 & Over	0.0%		0.0%	Self-Pay		11.9%	Multiracial	0.0%	0.0%
				Other or Unknow	vn Insurance	0.4%	Declined	0.6%	0.7%
							Unavailable	14.7%	9.0%

	APR-DI	RG Specific D	ata	2			
		A	verage Length of S	tay	Average Cl	narge per Discha	arge
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin PSYCH	Ratio	This Facility	All Wisconsin PSYCH	Ratio
750 Schizophrenia	111	13.5	8.5	1.59	\$13,651	\$22,807	0.60
751 Psychoses	166	5.7	6.1	0.93	\$7,708	\$18,737	0.41
753 Bipolar Disorders	87	7.3	6.3	1.16	\$9,983	\$19,194	0.52
754 Depression	32	3.2	4.6	0.70	\$4,478	\$16,778	0.27
755 Neuroses Other Than Depression	31	3.4	4.7	0.72	\$4,929	\$13,323	0.37
756 Acute Adjust React Psychosocial Dysfunction	21	3.1	5.1	0.61	\$3,769	\$17,125	0.22
758 Behavioral disorders	0	N/A	6.2	N/A	*	\$20,917	N/A
759 Eating Disorders	*	*	21.2	*	*	\$70,260	*
761 Schizoaffective Disorders	13	13.7	8.6	1.59	\$20,265	\$21,515	0.94
770 Substance Abuse/Dependence, Left Against Medical Advice	0	N/A	2.0	N/A	*	\$7,618	N/A
773 Opioid Abuse/Dependence	5	3.8	4.6	0.83	\$5,603	\$16,603	0.34
774 Cocaine Abuse/Dependence	*	*	4.4	*	*	\$16,388	*
775 Alcohol Abuse/Dependence	19	3.1	4.1	0.76	\$4,483	\$13,826	0.32

N/A - Zero Discharges reported

^{* 1} through 4 Discharges reported

144 North Central Health Care

1100 Lakeview Dr

Wausau, WI 54403

715-848-4600 Analysis Area: 6-North Central

Total Patient Days: 4,886 Average Charge per Discharge: \$10,495 Home or Self-Care Other GMS Hospital	80.6% 2.2% 0.0% 0.0% 0.9%
Other GMS Hospital	2.2% 0.0% 0.0%
Other GMS Hospital	0.0% 0.0%
	0.0%
Psychiatric Utilization Critical Access Hospital (CAH)	
Discharges: 984 Percent of All Discharges: 91.7% Skilled Nursing Facility	0.9%
Patient Days: 4,599 Percent of All Patient Days: 94.1% Intermediate Care Facility	0.070
AODA Utilization Inpatient Rehabilitation Facility	0.6%
AODA Utilization Hospice	0.1%
Discharges: 83 Percent of All Discharges: 7.7% Other Institution	0.0%
Patient Days: 231 Percent of All Patient Days: 4.7% Home Health Service	0.5%
Age Distribution Sex Distribution Left Against Medical Advice	0.9%
Ara Craura (V. Bisaharman (V. Batiant Davis Say (V. Bisaharman (V. Batiant Davis Expired	0.0%
Linder 45 45 20/ 47 20/ Male 40 40/	2.7%
15 - 19 19.9% 18.8% Female 48.9% 48.1% Other 15 - 19 51.8% Race Distribution	11.5%
20 - 24 9.1% 8.8%	
25 - 34 15.8% 13.5% Expected Pay Source Distribution Race % Discharges % Pa	atient Days
35 - 44 17.1% 16.5% Primary Payer % Discharges Amer.Ind/Alaskan Native 3.8%	3.5%
45 - 54 11.9% 11.5% Medicare 12.2% Asian 1.5%	1.9%
55 - 64 7.4% 8.5% Medicaid/BadgerCare 50.1% Black/African Amer. 3.3%	2.4%
65 - 74 2.9% 4.4% Other Government 0.7% Native Hawaii/Pac.Isl. 0.0%	0.0%
75 - 84 0.7% 0.8% Commercial or Private Insurance 29.6% White 90.8%	91.7%
85 & Over 0.0% 0.0% Self-Pay 6.9% Multiracial 0.2%	0.1%
Other or Unknown Insurance 0.5% Declined 0.0%	0.0%
Unavailable 0.5%	0.4%

Hospital Type: PSYCH

County: Marathon

		A۱	erage Length of St	tay	Average Charge per Discharge			
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin PSYCH	Ratio	This Facility	All Wisconsin PSYCH	Ratio	
750 Schizophrenia	98	7.3	8.5	0.86	\$16,742	\$22,807	0.73	
751 Psychoses	488	4.3	6.1	0.70	\$9,932	\$18,737	0.53	
753 Bipolar Disorders	77	6.4	6.3	1.02	\$14,584	\$19,194	0.76	
754 Depression	43	3.2	4.6	0.70	\$7,499	\$16,778	0.45	
755 Neuroses Other Than Depression	198	4.0	4.7	0.85	\$9,171	\$13,323	0.69	
756 Acute Adjust React Psychosocial Dysfunction	32	3.8	5.1	0.75	\$8,879	\$17,125	0.52	
758 Behavioral disorders	13	4.3	6.2	0.69	\$9,951	\$20,917	0.48	
759 Eating Disorders	0	N/A	21.2	N/A	*	\$70,260	N/A	
761 Schizoaffective Disorders	7	11.1	8.6	1.29	\$25,740	\$21,515	1.20	
770 Substance Abuse/Dependence, Left Against Medical Advice	*	*	2.0	*	*	\$7,618	*	
773 Opioid Abuse/Dependence	0	N/A	4.6	N/A	*	\$16,603	N/A	
774 Cocaine Abuse/Dependence	*	*	4.4	*	*	\$16,388	*	
775 Alcohol Abuse/Dependence	61	2.7	4.1	0.66	\$6,362	\$13,826	0.46	

N/A - Zero Discharges reported

^{* 1} through 4 Discharges reported

149 Aurora Psychiatric Hospital

1220 Dewey Avenue

Wauwatosa, WI 53213

414-454-6600

Hospital Type: PSYCH

County: Milwaukee

Analysis Area: 2B-Milwaukee County

Overall Hospital	<u>Utilization</u>						Patient D	ischarge Stat	<u>us</u>
Total Discharges:		4,833	Average Le	ength of Stay (days)	:	4.4	Discharge Status		% Discharges
Total Patient Days	s: 2	21,286	Average C	harge per Discharge	e: \$	20,722	Home or Self-Care		84.4%
Psychiatric Utiliz	ration						Other GMS Hospital		1.1%
rsycinatific Othiz	<u>cation</u>						Critical Access Hospital	(CAH)	0.0%
Discharges:		3,817	Percent of	All Discharges:		79.0%	Skilled Nursing Facility		0.0%
Patient Days:	1	8,095	Percent of	All Patient Days:		85.0%	Intermediate Care Facilit	•	0.0%
AODA Utilization	•						Inpatient Rehabilitation F	acility	0.7%
	<u>.</u>						Hospice		0.0%
Discharges:				All Discharges:		20.3%	Other Institution		0.1%
Patient Days:		3,067	Percent of	All Patient Days:		14.4%	Home Health Service		0.0%
	Age Distribution				Sex Distribution		Left Against Medical Adv	rice	11.4%
Age Group	% Discharges	% Patie	ent Days	Sex	% Discharges	% Patient Days	Expired		0.0%
Under 15	9.6%	70 T GU	9.7%	Male	52.6%	51.7%	Discharge/Tran to Court	Law Enforcmnt	0.0%
15 - 19	10.0%		9.7%	Female	47.4%	48.3%	Other	Distribution	2.3%
20 - 24	9.5%		8.6%				Naci	z Distribution	
25 - 34	20.2%		19.8%	<u>Expected</u>	d Pay Source Dis	<u>tribution</u>	Race	% Discharges	% Patient Days
35 - 44	20.0%		19.4%	Primary Payer		% Discharges	Amer.Ind/Alaskan Native	1.1%	1.1%
45 - 54	14.0%		13.6%	Medicare		24.2%	Asian	0.8%	1.0%
55 - 64	13.0%		14.6%	Medicaid/Badger	Care	51.8%	Black/African Amer.	30.8%	32.4%
65 - 74	3.2%		4.1%	Other Governme	ent	0.9%	Native Hawaii/Pac.Isl.	0.4%	0.4%
75 - 84	0.5%		0.6%	Commercial or P	rivate Insurance	20.9%	White	64.2%	62.9%
85 & Over	0.0%		0.0%	Self-Pay		2.2%	Multiracial	2.3%	1.9%
				Other or Unknow	n Insurance	0.0%	Declined	0.4%	0.3%
							Unavailable	0.0%	0.0%

		A۱	erage Length of S	tay	Average Charge per Discharge		
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin PSYCH	Ratio	This Facility	All Wisconsin PSYCH	Ratio
750 Schizophrenia	399	7.0	8.5	0.82	\$32,647	\$22,807	1.43
751 Psychoses	1,561	4.5	6.1	0.74	\$21,099	\$18,737	1.13
753 Bipolar Disorders	907	4.8	6.3	0.76	\$22,526	\$19,194	1.17
754 Depression	615	4.0	4.6	0.87	\$18,732	\$16,778	1.12
755 Neuroses Other Than Depression	53	4.1	4.7	0.87	\$18,787	\$13,323	1.41
756 Acute Adjust React Psychosocial Dysfunction	78	4.2	5.1	0.82	\$19,206	\$17,125	1.12
758 Behavioral disorders	93	4.2	6.2	0.68	\$19,272	\$20,917	0.92
759 Eating Disorders	0	N/A	21.2	N/A	*	\$70,260	N/A
761 Schizoaffective Disorders	59	5.0	8.6	0.58	\$23,471	\$21,515	1.09
770 Substance Abuse/Dependence, Left Against Medical Advice	167	1.6	2.0	0.80	\$7,959	\$7,618	1.04
773 Opioid Abuse/Dependence	165	3.6	4.6	0.78	\$17,804	\$16,603	1.07
774 Cocaine Abuse/Dependence	140	3.8	4.4	0.86	\$18,298	\$16,388	1.12
775 Alcohol Abuse/Dependence	489	3.2	4.1	0.78	\$15,577	\$13,826	1.13

N/A - Zero Discharges reported

^{* 1} through 4 Discharges reported

West Allis, WI 53214

414-667-4800

Hospital Type: PSYCH
County: Milwaukee

Analysis Area: 2B-Milwaukee County

Overall Hospital	<u>Utilization</u>						Patient D	<u>ischarge Stat</u>	<u>us</u>
Total Discharges	:	1,672	Average L	ength of Stay (days):		8.5	Discharge Status		% Discharges
Total Patient Day	/s: 1	14,204	Average C	harge per Discharge	\$ ⁻	18,690	Home or Self-Care		88.7%
Psychiatric Utili	zation						Other GMS Hospital		0.7%
rsycillatific Othii.	<u>zation</u>						Critical Access Hospital (CAH)	0.0%
Discharges:		1,642		All Discharges:		98.2%	Skilled Nursing Facility		0.0%
Patient Days:	1	13,987	Percent of	All Patient Days:		98.5%	Intermediate Care Facility		0.1%
AODA Utilization	2						Inpatient Rehabilitation F	acility	0.0%
	<u>'</u>						Hospice		0.0%
Discharges:		24		All Discharges:		1.4%	Other Institution		0.0%
Patient Days:		189	Percent of	All Patient Days:		1.3%	Home Health Service		0.0%
	Age Distribution				Sex Distribution		Left Against Medical Adv	ce	9.4%
Age Group	% Discharges	% Pat	tient Days	<u>Sex</u>	% Discharges	% Patient Days	Expired		0.0%
Under 15	8.3%	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	8.0%	Male	51.9%	51.9%	Discharge/Tran to Court/ Other	Law Enforcmnt	0.7%
15 - 19	18.5%		16.5%	Female	48.1%	48.1%	_	Distribution	0.5%
20 - 24	10.3%		8.9%	Franco etc.	l Day Cayraa Diat				
25 - 34	20.1%		19.6%	Expected	d Pay Source Dist	ribution	<u>Race</u>	% Discharges	% Patient Days
35 - 44	19.3%		19.5%	Primary Payer		% Discharges	Amer.Ind/Alaskan Native	10.7%	10.2%
45 - 54	12.7%		13.5%	Medicare		7.8%	Asian	1.4%	1.5%
55 - 64	8.0%		9.5%	Medicaid/Badger	Care	26.1%	Black/African Amer.	41.1%	43.2%
65 - 74	2.5%		3.8%	Other Governme	nt	8.8%	Native Hawaii/Pac.Isl.	0.0%	0.0%
75 - 84	0.4%		0.6%	Commercial or P	rivate Insurance	35.9%	White	46.7%	45.2%
85 & Over	0.0%		0.0%	Self-Pay		9.4%	Multiracial	0.0%	0.0%
				Other or Unknow	n Insurance	12.0%	Declined	0.0%	0.0%
							Unavailable	0.0%	0.0%

		A۱	erage Length of S	tay	Average Charge per Discharge			
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin PSYCH	Ratio	This Facility	All Wisconsin PSYCH	Ratio	
750 Schizophrenia	493	10.6	8.5	1.25	\$23,276	\$22,807	1.02	
751 Psychoses	593	6.9	6.1	1.13	\$15,133	\$18,737	0.81	
753 Bipolar Disorders	416	7.8	6.3	1.24	\$17,170	\$19,194	0.89	
754 Depression	6	6.2	4.6	1.35	\$13,567	\$16,778	0.81	
755 Neuroses Other Than Depression	23	6.3	4.7	1.34	\$13,870	\$13,323	1.04	
756 Acute Adjust React Psychosocial Dysfunction	*	*	5.1	*	*	\$17,125	*	
758 Behavioral disorders	28	8.5	6.2	1.37	\$18,700	\$20,917	0.89	
759 Eating Disorders	0	N/A	21.2	N/A	*	\$70,260	N/A	
761 Schizoaffective Disorders	76	12.9	8.6	1.50	\$28,311	\$21,515	1.32	
770 Substance Abuse/Dependence, Left Against Medical Advice	*	*	2.0	*	*	\$7,618	*	
773 Opioid Abuse/Dependence	6	11.5	4.6	2.50	\$25,300	\$16,603	1.52	
774 Cocaine Abuse/Dependence	*	*	4.4	*	*	\$16,388	*	
775 Alcohol Abuse/Dependence	9	6.1	4.1	1.49	\$13,444	\$13,826	0.97	

N/A - Zero Discharges reported

^{* 1} through 4 Discharges reported

192 Rogers Memorial Hospital - Milwaukee

11101 W Lincoln Ave

West Allis, WI 53227

414-327-3000

Hospital Type: PSYCH

County: Milwaukee

Analysis Area: 2B-Milwaukee County

Overall Hospital U	<u>Itilization</u>						Patient D	ischarge Stat	<u>us</u>
Total Discharges:		3,943	Average L	ength of Stay (days):		5.2	Discharge Status		% Discharges
Total Patient Days:	2	20,528	Average C	harge per Discharge	: \$ ⁻	18,359	Home or Self-Care		91.4%
Psychiatric Utiliza	tion						Other GMS Hospital		0.0%
<u> </u>	<u>ition</u>						Critical Access Hospital	(CAH)	0.0%
Discharges:		2,626	Percent of	All Discharges:		66.6%	Skilled Nursing Facility		0.0%
Patient Days:	1	4,815	Percent of	All Patient Days:		72.2%	Intermediate Care Facilit		0.0%
AODA Hillization							Inpatient Rehabilitation F	acility	0.0%
AODA Utilization							Hospice		0.0%
Discharges:		1,304		All Discharges:		33.1%	Other Institution		0.0%
Patient Days:		5,638	Percent of	All Patient Days:		27.5%	Home Health Service		0.0%
<u>.</u>	Age Distribution				Sex Distribution		Left Against Medical Adv	rice	6.1%
Age Group	% Discharges	% Pat	ient Days	<u>Sex</u>	% Discharges	% Patient Days	Expired		0.0%
Under 15	10.0%	70 T G	14.3%	Male	52.1%	50.1%	Discharge/Tran to Court	Law Enforcmnt	0.0%
15 - 19	10.6%		13.0%	Female	47.9%	49.9%	Other	e Distribution	2.5%
20 - 24	9.8%		9.3%				Naci	<u> Distribution</u>	
25 - 34	19.7%		17.2%	Expected	I Pay Source Dist	<u>ribution</u>	Race	% Discharges	% Patient Days
35 - 44	21.5%		19.0%	Primary Payer		% Discharges	Amer.Ind/Alaskan Native	1.2%	1.2%
45 - 54	15.7%		14.3%	Medicare		15.4%	Asian	0.9%	1.0%
55 - 64	9.0%		8.6%	Medicaid/Badger	Care	50.1%	Black/African Amer.	20.0%	21.1%
65 - 74	3.2%		3.6%	Other Governmen	nt	0.0%	Native Hawaii/Pac.Isl.	0.3%	0.4%
75 - 84	0.4%		0.6%	Commercial or Pr	rivate Insurance	33.0%	White	68.8%	67.2%
85 & Over	0.1%		0.0%	Self-Pay		1.1%	Multiracial	0.0%	0.0%
				Other or Unknow	n Insurance	0.4%	Declined	2.7%	2.7%
							Unavailable	6.0%	6.4%
				API	R-DRG Specific D	ata			

	/ \\ I\ D\	to opoomo b	utu				
		A۱	erage Length of St	tay	Average Charge per Discharge		
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin PSYCH	Ratio	This Facility	All Wisconsin PSYCH	Ratio
750 Schizophrenia	230	5.9	8.5	0.69	\$20,623	\$22,807	0.90
751 Psychoses	1,091	5.6	6.1	0.92	\$19,710	\$18,737	1.05
753 Bipolar Disorders	546	5.8	6.3	0.92	\$20,607	\$19,194	1.07
754 Depression	202	5.6	4.6	1.22	\$20,058	\$16,778	1.20
755 Neuroses Other Than Depression	91	5.2	4.7	1.11	\$18,393	\$13,323	1.38
756 Acute Adjust React Psychosocial Dysfunction	235	5.2	5.1	1.02	\$18,381	\$17,125	1.07
758 Behavioral disorders	88	7.1	6.2	1.15	\$24,517	\$20,917	1.17
759 Eating Disorders	*	*	21.2	*	*	\$70,260	*
761 Schizoaffective Disorders	31	4.5	8.6	0.52	\$17,548	\$21,515	0.82
770 Substance Abuse/Dependence, Left Against Medical Advice	89	2.4	2.0	1.20	\$8,286	\$7,618	1.09
773 Opioid Abuse/Dependence	434	4.6	4.6	1.00	\$16,450	\$16,603	0.99
774 Cocaine Abuse/Dependence	176	4.6	4.4	1.05	\$16,257	\$16,388	0.99
775 Alcohol Abuse/Dependence	580	4.3	4.1	1.05	\$15,295	\$13,826	1.11

N/A - Zero Discharges reported

^{* 1} through 4 Discharges reported